

$$y = \frac{11}{4x^3} + \frac{7}{3x^2}$$

$$y + \Delta y = \frac{7}{3(x + \Delta x)^2}$$

$$y + \Delta y = \frac{7}{3(x^2 + 2x\Delta x + \Delta x^2)}$$

$$y + y + \Delta y = \frac{7}{3x^2 + 6x\Delta x + 3\Delta x^2} - \frac{7}{3x^2}$$

$$\Delta y = \frac{3x^2 - 3x^2 - 42x\Delta x - 21\Delta x^2}{(3x^2 + 6x\Delta x + 3\Delta x^2)(3x^2)}$$

$$\frac{\Delta y}{\Delta x} = \frac{-42x\Delta x - 21\Delta x^2}{(3x^2 + 6x\Delta x + 3\Delta x^2)(3x^2)} \div \Delta x$$

$$\frac{\Delta y}{\Delta x} = \frac{-42x - 21\Delta x}{(3x^2 + 6x\Delta x + 3\Delta x^2)(3x^2)}$$

$$\frac{\Delta y}{\Delta x} = \frac{-42x}{(3x^2)}$$

$$\frac{\Delta y}{\Delta x} = \frac{132x^2 - 44}{(4x^3)^2} = \frac{42x}{(3x^2)^2}$$

$$y = 112x^3 - 6x^4$$

$$y = \left[\begin{array}{l} 11 \\ -11 \end{array} \right] - 2x^2 - 4x \Delta x - 2 \Delta x^2 \left[\begin{array}{l} -6x \\ 6x^3 \end{array} \right] - 18x^2 \Delta x - 18$$

$$\lambda \Delta x^2 - 6 \Delta x^3$$

$$y + \frac{\Delta y}{\Delta x} = -4x \Delta x - 2 \Delta x^2 - 18x^2 \Delta x - 18 \Delta x$$

$$-6 \Delta x^3 \div \Delta x$$

$$\Delta y = -4x - 2 \Delta x - 18x^2 - 18 \Delta x - 6 \Delta x^2$$

$$\frac{\Delta y}{\Delta x} = -4x$$

Lim
 $\Delta x \rightarrow 0$

$$y = \frac{x}{(x^2 - 8)} = \frac{1}{x + 8}$$

$$y = \frac{1}{(x + \Delta x) - 8}$$

$$y = \frac{1}{x + \Delta x + 8} - \frac{1}{x + 8}$$

$$= \frac{x + 8 - x - \Delta x - 8}{(x + \Delta x + 8)(x + 8)}$$

$$= \frac{-\Delta x}{(x + \Delta x + 8)(x + 8)} \div \Delta x = \frac{1}{(x + \Delta x + 8)(x + 8)}$$

$$\frac{1}{(x + 8)^2}$$

Lim $\Delta x \rightarrow 0$

$$y = \frac{5}{3x-4}$$

$$y = \frac{5}{3x+3\Delta x-4} - \frac{5}{3x-4}$$

$$\frac{5x-20 + 5x + 15\Delta x - 20}{(3x+3\Delta x-4)(3x-4)}$$

$$y + \frac{\Delta y}{\Delta x} = \frac{15\Delta x}{(3x+3\Delta x-4)(3x-4)} \div \Delta x$$

$$\frac{\Delta y}{\Delta x} = \frac{15}{(3x+3\Delta x-4)(3x-4)}$$

$$\frac{\Delta y}{\Delta x} = \frac{15}{(3x-4)^2}$$

$$y = \frac{3x+7}{2x-1}$$

8

$$y = \frac{3x+3\Delta x+7}{2x+2\Delta x-1} - \frac{3x+7}{2x-1}$$

$$\frac{6x+1+6\Delta x-3x-7+4\Delta x+4\Delta x+2}{(2x+2\Delta x-1)(2x-1)} = \frac{3x+2+6\Delta x-4\Delta x-3}{(2x+2\Delta x-1)(2x-1)}$$

$$\frac{\Delta y}{\Delta x} = \frac{4\Delta x+3\Delta x}{(2x+2\Delta x-1)(2x-1)} \div \Delta x$$

$$\frac{\Delta y}{\Delta x} = \frac{7}{(2x+2\Delta x-1)(2x-1)}$$

$$\frac{\Delta y}{\Delta x} = \frac{7}{(2x-1)^2}$$

Alberto Bermudez Trujillo

①

$$y = 2x^3 - 6x^2 - 7x + 11$$

$$y = 2(x^3 + 3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3) - 6(x^2 + 2x \Delta x + \Delta x^2) + (x + \Delta x) + 11$$

$$y = 2x^3 + 6x^2 \Delta x + 6x \Delta x^2 + 2\Delta x^3 - 6x^2 - 12x \Delta x - 6\Delta x^2 - 7x - 7\Delta x + 11$$

$$-7\Delta x + 11 \quad | \quad -2x^3 \quad | \quad 6x^2 \quad | \quad 7x \quad | \quad = 11 \quad | \quad \text{CFN}$$

$$\frac{y + \Delta y}{\Delta x} = \frac{6x \Delta x^2}{\Delta x} + \frac{6x \Delta x^2}{\Delta x} + \frac{12x \Delta x^2}{\Delta x} + \dots$$

$$\frac{-12x \Delta x^2}{\Delta x} - \frac{6 \Delta x^2}{\Delta x} - \frac{7 \Delta x}{\Delta x} = \Delta x$$

$$\frac{\Delta y}{\Delta x} \rightarrow 6x^2 + 6x \Delta x + 2\Delta x^2 - 12x - 6\Delta x - 7 \quad \text{Lim } \Delta x \rightarrow 0$$

$$\frac{\Delta y}{\Delta x} = 6x^2 - 12x - 7$$

9

$$y = (1 + 2x)^2$$

$$y = 1 + 4x$$

$$y = 1 + 4 + 4\Delta x - 1 - 4x$$

$$y = 4\Delta x - \Delta x$$

$$\frac{\Delta y}{\Delta x} = 4$$

$$(10) \quad y = \frac{3}{5x^2} - \frac{3}{4x} + \frac{1}{8}$$

$$y = \frac{-3}{4x}$$

$$y \cdot \Delta y = \frac{-3}{4x + 4\Delta x} = \frac{-3}{4x}$$

$$x \cdot y = \frac{12x - 12x - 12\Delta x}{(4x + 4\Delta x)(4x)}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12\Delta x}{(4x + 4\Delta x)(4x)} \quad \div \Delta x$$

$$\frac{\Delta y}{\Delta x} = \frac{-12}{(4x + 4\Delta x)(4x)} \quad \lim_{\Delta x \rightarrow 0}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12}{(4x)^2} \quad \frac{\Delta y}{\Delta x} = \frac{-30x}{(5x^2)^2} = \frac{-12}{(4x)^2}$$



calculo

alberto bermudez trujillo

recursos humanos

plataforma